

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd v/a Halewood South Africa  
Company Registration Number: 13998/001887/07

www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200  
APEX EXTENSION 1 FAX: +27 11 422 5888  
BENONI 1501

VAT Reg No: 4590177624

BANKING DETAILS: 164 13 0400  
FIRST NATIONAL BANK  
A/C NO: 62889748368  
BRANCH CODE: 240129  
REFERENCE:

LR

PO BOX 2132  
BENONI 1500  
SOUTH AFRICA

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

Printed on: 29/01/2025 at: 12:43:11

DELIVER TO:

Halewood - Limbro Park  
Halewood - Limbro Park  
4th Ashworth Street  
Limbro Park  
Gauteng  
South Africa

Shipping Instructions:

29499



61582

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HH	1989331		29/01/25	29/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
7STARSBERRY 500ML	7 STARS BERRY NON-ALCOHOLIC ENERGY DRINK CAN 500ML	CS	3	0	HH	107.59	322.77
BELGINPITO275ML	BELGRAVIA GIN & PINK TONIC RTD NRB 275ML @ 5%	CS	78	0	HH	206.93	16,140.40
CTP/APGBS27524T	CARIBBEAN TWIST PEACH PARADISE RTD NRB 275ML @ 5%	CS	78	0	HH	214.13	16,702.44
CTP/APLDAQ27524	CARIBBEAN TWIST PINEAPPLE DAQUIRY RTD NRB 275ML	CS	17	0	HH	217.75	3,701.79
CTPCGBS27524T	CARIBBEAN TWIST PINA COLADA RTD NRB 275ML @ 5%	CS	28	0	HH	219.31	6,140.77
CTPCLT27524T	CARIBBEAN TWIST PINA COLADA LITE RTD NRB 275ML	CS	13	0	HH	165.84	2,155.93
CTRUM&COLA275ML	CARIBBEAN TWIST RUM & COLA RTD NRB 275ML @ 5%	CS	8	0	HH	223.66	1,789.27
CTT/PUNCH24275	CARIBBEAN TWIST TROPICAL PUNCH RTD NRB 275ML @ 5%	CS	4	0	HH	219.33	877.32
HBGALE24X200	HALL & BRAM GINGER ALE CAN 200ML @ 0%	CS	16	0	HH	86.70	1,387.14
HBNSTONIC24X200	HALL & BRAM NO SUGAR TONIC WATER CAN 200ML @ 0%	CS	29	0	HH	84.80	2,459.07
RSBLACK27524T	RED SQUARE BLACK ICE RTD NRB 275ML @ 5%	CS	28	0	HH	206.59	5,784.65
RSELEBL27524T	RED SQUARE ELECTRIC BLUE ENERGY RTD NRB 275ML	CS	15	0	HH	233.40	3,501.03
RSPINK27524T	RED SQUARE PINK ICE RTD NRB 275ML @ 5%	CS	14	0	HH	209.25	2,929.50
RSRED27524T	RED SQUARE RED ICE RTD NRB 275ML @ 5%	CS	78	0	HH	210.25	16,399.62
RSRELOADCN250ML	RED SQUARE RELOAD ENERGY DRINK CAN 250ML @ 0%	CS	3	0	HH	99.29	297.88

Seal no: 7451621 7451628  
7451622 7451629  
7451623 7451630  
7451624  
7451625  
7451626  
7451627

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd via Halewood South Africa  
 Company Registration number 1998/001887/07  
 www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200  
 APEX EXTENSION 1 FAX: +27 11 422 5888  
 BENONI 1501

VAT Reg No : 4590177624

PO BOX 2132  
 BENONI 1500  
 SOUTH AFRICA

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

BANKING DETAILS:  
 FIRST NATIONAL BANK  
 A/C NO: 62889748368  
 BRANCH CODE: 240129  
 REFERENCE:

Printed on: 29/01/2025  
 at: 12:43:11

**DELIVER TO:**

Halewood - Lindro Park  
 Halewood - Lindro Park  
 4th Ashworth Street  
 Lindro Park  
 Gauleng  
 South Africa

Shipping Instructions:



29499

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HH	1989331		29/01/25	29/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
RSTEQ27524PIB	RED SQUARE TEQUILA ENERGY RTD NRB 275ML @ 5.4%	CS	10	0	HH	237.21	2,372.10
SKDSTRAWBERRY	SKINNY DIVA STRAWBERRY SWIRL RTD NRB 275ML @ 3%	CS	13	0	HH	173.63	2,257.21
WCPGOGUES1X750	POGUES IRISH WHISKEY 750ML @ 43%	EA	0	54	HH	206.08	11,128.57
ORCOSMOP30012S	ORIGINAL ICE COSMOPOLITAN COCKTAIL POUCH 300ML	CS	5	0	HH	134.17	670.87
ORIMOJITO30012S	ORIGINAL ICE MOJITO COCKTAIL POUCH 300ML @ 5%	CS	1	0	HH	122.81	122.81
ORISSLING30012S	ORIGINAL ICE SINGAPORE SLING COCKTAIL POUCH 300ML	CS	1	0	HH	137.61	137.61
SOMBRSLIV750X1	SOMBRERO TEQUILA SILVER 750ML @ 43%	EA	0	6	HH	193.15	1,158.88
BELGRAVIN750	BELGRAVIA LONDON DRY GIN 750ML @ 43%	CS	520	0	HH	652.65	339,375.86
BUFFELBRA750	BUFFELSFONTEIN BRANDEWYN 750ML @ 43%	CS	312	0	HH	793.69	247,632.17
BELGINDL750ML	BELGRAVIA GIN & DRY LEMON RTD NRB 275ML @ 5%	CS	546	0	HH	208.29	113,728.42
CTRUMWHITE750ML	CARIBBEAN TWIST WHITE RUM 750ML @ 43%	CS	104	0	HH	659.28	68,565.53
RSVODENERINF750ML	RED SQUARE FLAVOURED VODKA ENERGY INFUSION 750ML	CS	4	0	HH	424.68	1,698.70
RSVODKA750ML	RED SQUARE VODKA 750ML @ 43%	CS	104	0	HH	654.76	68,095.45
RSVODLIME750ML	RED SQUARE FLAVOURED VODKA LIME 750ML @ 25%	CS	7	0	HH	429.54	3,006.76
RSVODPASFRU750ML	RED SQUARE FLAVOURED VODKA PASSION FRUIT 750ML	CS	5	0	HH	423.12	2,115.61
RSVODSTRAW750ML	RED SQUARE VODKA STRAWBERRY 750ML @ 25%	CS	3	0	HH	424.68	1,274.05



# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd t/a Halewood South Africa  
 Company Registration number: 199R/001887/07  
 www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200  
 APEX EXTENSION 1 FAX: +27 11 422 5888  
 BENONI 1501  
 PO BOX 2132  
 BENONI 1500  
 SOUTH AFRICA  
 VAT Reg No: 4590177624  
 MANUFACTURING & DISTRIBUTION LICENCE: RG000275

BANKING DETAILS:  
 FIRST NATIONAL BANK  
 A/C NO: 62889748368  
 BRANCH CODE: 240129  
 REFERENCE:

Printed on: 29/01/2025  
 at: 12:43:11

INVOICE TO: Halewood - Johannesburg  
 Halewood International S.A (Pty) Ltd  
 61 Toronto Street  
 Apex Extension 1  
 Benoni  
 1501

DELIVER TO: Halewood - Linbro Park  
 Halewood - Linbro Park  
 4th Ashworth Street  
 Linbro Park  
 Gauteng  
 South Africa

Shipping Instructions:



CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HH	1989331		29/01/25	29/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
RSVODTOFF750ML	RED SQUARE VODKA TOFFEE 750ML @ 25%	CS	3	0	HH	436.33	1,309.00
BELGINDLEM275MLNA	BELGRAVIA GIN & DRY LEMON NON ALCOL RTD NRB 275ML	CS	17	0	HH	112.38	1,910.47
BELGINTON275MLNA	BELGRAVIA GIN & TONIC NON ALCOHOLIC RTD NRB 275ML	CS	22	0	HH	109.57	2,410.53
HOBBLANCNTARC250	HOUSE OF BNG BLANC NECTAR IN CARTONS 250ML @ 12%	CS	8	0	HH	730.44	5,843.52
RSVODKAPAPPLE750ML	RED SQUARE VODKA PINEAPPLE 750ML @ 25%	CS	2	0	HH	417.91	835.81
RSVODKAWBERRY750ML	RED SQUARE VODKA WILD BERRY 750ML @ 25%	CS	5	0	HH	423.43	2,117.17
BUFFELKOLBOEP275	BUFFELSFONTEIN BRANDY & KOLA BOEPENS RTD NRB 275ML	CS	14	0	HH	219.67	3,075.44
DMFRSRASPR440ML	DEAD MAN'S FINGERS RATTLESNAKE R&R RTD 440ML @ 5%	CS	19	0	HH	273.68	5,199.93
DMFCOCONUT750ML	DEAD MAN'S FINGERS COCONUT RUM 750ML @ 37.5%	EA	0	16	HH	121.55	1,944.86
DMFDARKRUM750ML	DEAD MAN'S FINGERS DARK RUM 750ML @ 43%	EA	0	17	HH	139.52	2,371.80
DMFSPICEDR750ML	DEAD MAN'S FINGERS SPICED RUM 750ML @ 37.5%	EA	0	14	HH	118.09	1,653.32
APPELSPCDRUM750	APPEL JAGTERS GEES SPICED RUM 750ML @ 35%	EA	0	80	HH	120.21	9,616.70
BELGRAVIN1LTR	BELGRAVIA GIN 1LTR @ 43%	CS	12	0	HH	861.62	10,339.39
GELSBLENDWH1X750	GELSTONBLEND IRISH WHISKEY 750ML @ 43%	EA	0	6	HH	180.58	1,083.45
DMFPINERUM750	DEAD MAN'S FINGERS PINEAPPLE RUM 750ML @ 37.5%	EA	0	6	HH	121.48	728.85
BUFFELBRA200	BUFFELSFONTEIN BRANDEWYN 200ML @ 43%	CS	4	0	HH	467.16	1,868.62



# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd v/a Halewood South Africa  
Company Registration number 1998/001882/07

www.halewood.co.za

61 TORONTO STREET  
APEX EXTENSION 1  
BENONI 1501

TEL: +27 11 746 4200  
FAX: +27 11 422 5888

VAT Reg No: 4590177624

PO BOX 2132  
BENONI 1500  
SOUTH AFRICA

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

BANKING DETAILS:  
FIRST NATIONAL BANK  
A/C NO: 62889748368  
BRANCH CODE: 240129  
REFERENCE:

Printed on: 29/01/2025  
at: 12:43:11

**DELIVER TO:**

Halewood - Linbro Park  
Halewood - Linbro Park  
4th Ashworth Street  
Linbro Park  
Gauteng  
South Africa

**Shipping Instructions:**



29499

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HH	1989331		29/01/25	29/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
MUSGRVBRCPHON	MUSGRAVE BRANDY COPPER BLACK HONEY 750ML @ 38%	EA	0	21	HH	181.58	3,813.12
MUSGRVGINORIG	MUSGRAVE GIN ORIG 750ML @ 43%	EA	0	4	HH	152.72	610.87
MUSGRVGINPINK	MUSGRAVE GIN PINK 750ML @ 43%	EA	0	9	HH	155.60	1,400.36
MUSGRAVAGORI12	MUSGRAVE GIN ORIG CASE of 12 X 50ML	CS	1	0	HH	300.22	300.22
BELGINDLEM660ML	BELGRAVIA GIN & DRY LEMON RTD NRB 660ML @ 5%	CS	24	0	HH	245.93	5,902.21
DMFRSRASPR275ML	DEAD MAN'S FINGERS RATTLESNAKE R&R RTD NRB 275ML	CS	39	0	HH	210.67	8,216.08
BLAAUWBFAFT500	BLAAUWKLIPPEN BEFORE & AFTER APERITIF NRB 500ML	EA	0	2	HH	271.17	542.34
SKILPADTEPEL 275	SKILPADTEPEL RTD NRB 275ML @ 5%	CS	78	0	HH	226.72	17,684.00
SKILPADGIN750ML	SKILPADTEPEL GIN 750ML @ 43%	EA	0	11	HH	156.85	1,725.37
BELGINDCHY275ML	BELGRAVIA GIN & DARK CHERRY RTD NRB 275ML @ 5%	CS	78	0	HH	204.31	15,936.11
BLAAUWBRANDY10Y	BLAAUWKLIPPEN 10 YEAR POTSTILL BRANDY 500ML @ 38%	EA	0	5	HH	429.65	2,148.25
BELGPLATGN750	BELGRAVIA PLATINUM LONDON DRY GIN 750ML @ 43%	CS	6	0	HH	655.27	3,931.62
GELSTOD275ML	GELSTON LIME & SODA RTD NRB 275ML @ 5%	CS	17	0	HH	270.48	4,598.21
CTPWATERMELON440ML	CARIBBEAN TWIST WATERMELON RTD CAN 440ML @ 5%	CS	8	0	HH	262.65	2,101.18
APPELGOUEFOUTE275ML	APPEL GOUE FOUTE 275ML RTD NRB GEKRUIDE APPEL GEUR	CS	3	0	HH	207.64	622.93
APPELSTOUTEFOUTE275ML	APPEL STOUTE FOUTE 275ML RTD NRB DONKER RUM & COLA	CS	78	0	HH	228.65	17,834.97

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd c/o Halewood South Africa  
Company Registration number 19978/001887/07  
www.halewood.co.za

61 TORONTO STREET  
APEX EXTENSION 1  
BENONI 1501

PO BOX 2132  
BENONI 1500  
SOUTH AFRICA

TEL: +27 11 746 4200  
FAX: +27 11 422 5888  
VAT Reg No: 4590177624

BANKING DETAILS:  
FIRST NATIONAL BANK  
A/C NO: 62889748368  
BRANCH CODE: 240129  
REFERENCE:

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

Printed on: 29/01/2025  
at: 12:43:11

INVOICE TO: Halewood - Johannesburg  
Halewood International S A (Pty) Ltd  
61 Toronto Street  
Apex Extension 1  
Benoni  
1501

DELIVER TO: Halewood - Linbro Park  
Halewood - Linbro Park  
4th Ashworth Street  
Linbro Park  
Gauteng  
South Africa

Shipping Instructions:

29499



CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HH	1989331		29/01/25	29/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
SWTCHDLEMON275ML	SWTCH DRY LEMON NRB ENERGY DRINK 275ML @ 0%	CS	1	0	HH	112.06	112.06
SWTCHORIG275ML	SWTCH ORIGINAL NRB ENERGY DRINK 275ML @ 0%	CS	1	0	HH	112.00	112.00
SWTCHSBOK275ML	SWTCH SPRINGBOK NRB ENERGY DRINK 275ML @ 0%	CS	1	0	HH	112.05	112.05
QIRCOSMOP4X2LTR	ORIGINAL ICE COSMOPOLITAN COCKTAIL 4 X BOX 2LTR	CS	1	0	HH	235.17	235.17
ORIMOJITO4X2LTR	ORIGINAL ICE MOJITO COCKTAIL 4 X BOX 2LTR	CS	12	0	HH	218.22	2,618.68
ORISSLING4X2LTR	ORIGINAL ICE SINGAPORE SLING COCKTAIL 4 X BOX 2LTR	CS	1	0	HH	241.82	241.82
PALLET	GENERAL PURPOSE PALLET	EA	0	30	HH	138.00	4,140.00
DIVIDERBOARD-DISTRIBUTI	DIVIDER BOARDS DISTRIBUTION	EA	0	30	HH	5.22	156.60

# HALEWOOD

PAYMENT TERMS STRICTLY C.O.D. UNLESS CREDIT TERMS HAVE BEEN ARRANGED IN WRITING

0 2,502 311

**TRANSPORTATION:**  
PLEASE RECEIVE ABOVE GOODS IN GOOD ORDER & CONDITION  
Any discrepancy between goods received and those detailed in this Waybill should be immediately notified.  
No responsibility accepted for goods signed for un-checked.  
Returns are subject to a 10% handling charge  
Commercial quality equipment is not to be used for lifting applications

**CUSTOMER:**  
PLEASE RECEIVE ABOVE GOODS IN GOOD ORDER & CONDITION  
Any discrepancy between goods received and those detailed in this Waybill should be immediately notified.  
No responsibility accepted for goods signed for un-checked.  
Returns are subject to a 10% handling charge  
Commercial quality equipment is not to be used for lifting applications

VEHICLE REGISTRATION NO: ..... PRINT NAME: .....

PRINT NAME: ..... DATE: .....

SIGNATURE .....

SIGNATURE .....

DATE .....

<b>SUB-TOTAL</b>	ZAR	1,091,335.26
<b>VAT</b>	ZAR	0.00
<b>TOTAL</b>	ZAR	1,091,335.26